
?= xhf/df 

cf=j= @)&^÷)&& sf] cg'dfg

1 kfl/>lds sd{rf/L 9500

2 kfl/>lds kbflwsf/L tyf cGo ;'ljwf 3000

3 kf]zfs 700
4 dFxuL eQf 700

5 lkmN8 eQf 150

6 a}7s eQf sd{rf/L 200

7 cGo eQf 100

8 kfgL tyf ljh'nL 680

9 ;~rf/ dx;'n 850

10 kbflwsf/L OGwg vr{ 1000

11 Ogwg vr{ sfof{no k|of][hg 1400

12 kqklqsf 5kfO{ tyf ;"rgf k|sfzg vr{ 1510

13 ;jfl/ ;fwg dd{t vr{ 700

14 ljdf tyf gljs/0f vr{ 210

15 d]zg/L tyf cf}hf/ dd{t ;Def/ tyf ;+rfng vr{ 400

16 d;nGb tyf sfof{no vr{ 2600

17 OGwg vr{ cGo k|of]hg vr{ 100

18 cGo sfof{no ;~rfng vr{ 200

19 ;]jf / k/fdz{ vr{ 1000

20 ;"rgf k|0ffnL tyf ;ˆ6j]o/ ;+rfng vr{ 300

21 s/f/ ;]jf z'Ns 3500

22 cg'udg tyf d'Nof+sg vr{ 600

23 e|d0f vr{ 900

24 ljljw vr{ 1700

25 ;ef ;+rfng vr{ 200

26 3/ ef8f 1000

27 cGo ;fdflhs ;xfotf 35

28 ;jf/L ;fwg tyf d]lzg/L cf}hf/ ef8f 1400

29 sd{rf/L k|f]T;fxg tyf k'/:sf/ 1000
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